Leuze
FEARBIER
BT T ok
Be 45 50109658

1S 208MM/4NO-4NO

E

- BRSH
- Ry B4
- BRER
- BR

- BENER
- FmE
- e

- EfH

Em
Sl

i

ﬁ

djo
e
H

B TRTR c € cus -
P &7

LISTED

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBYE : +49 7021 573-0 - 44 & : +49 7021 573-199  chi + 2025-03-27 116



BRI « B RS : 50109658 « IS 208MM/4NO-4NO

BRSH

ERE

%5l

BRI NBERE S,
NS,

BHSH
MTTF

BAHE
RiF R

M RERIR
HEBBE Uy
RIRBBE
FrEE R

BEEB
BEERE,

BA (S WESL)
BA (S WEML)
FIE

i
BFTFRERH H

FFREMHH
BERE
BRAFFRBIR
RARRBR
BER

FREBHHA
F T

FxEE
)52
e ES
HERY
HEE
BEOKE

HEHE1
ae

el

BYAKE
PEMH
BYHHE
SHBE
ZOBE

The Sensor People

208
4 mm
0..32mm

900 F

RIRHERE
BRI RHP
EBRR

10...30V, DC

0...20 %, 3RE U,

0..10mA

10 %, WEEAN THRETE
5 %, Uy =20...30 VDC &Y , FMRRE

T,=23°C+5°C
20 %

14

DC
200 mA
0.1 mA
<2V

SIE, PNP
NO (BT AtR)

3,500 Hz
80 ms

14

fiteg B IR
ES@mH
B4
2,000 mm
PVC

e

3

0.14 mm?

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

WS

&1

R~ (@ xL)
RS
RERA
AFEHH
THEMNR
BB AR
AE
AZRHE

REXRE
PRAERAR
BAENET
BRRE
LEDZ
BB
HRERE , T
HRERE ,
TAE

FriP &4

REEH
IAIE

& BT EE LHMEMCIRTE 7

BIFIbR

EIERK

ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ECLASS 15.0
ETIM 5.0
ETIM 6.0
ETIM7.0
ETIM 8.0
ETIM 9.0
ETIM 10.0

info@leuze.com « www.leuze.com

Leuze

k=3

8 mm x 35 mm

M8 x 1 mm
IEFTF
TN
V2A

B¥, RRK (PBT)

709

41 , RAL 3000

i
RERIBY

BE®ERERE

12x12 mm?,

LED
14

-25..70°C
-25..70°C

IP 67

1l

cULUS

IEC 61000-4-2
IEC 61000-4-3
IEC 61000-4-4
IEC 60947-5-2

0.45
0.75
0.4
0.5

85365019
27270101
27270101
27270101
27270101
27270101
27274001
27274001
27274001
27274001
EC002714
EC002714
EC002714
EC002714
EC002714
EC002714

BBif : +49 7021 573-0 « £ : +49 7021 573-199

Fe360

REBAREEHRF

chi « 2025-03-27

2/6



BRI « B RS : 50109658 « IS 208MM/4NO-4NO

R E4

PRAERY 2GR EXR

M8x1

a7

A
/_

35

33,5

BAKE
PEMH
BAAE
SLBE
BOBH

BEHE
e

=)
B

The Sensor People

A BREE

B H®®&LED

e iR
EEmH
B4
2,000 mm
PVC
me
K

0.14 mm?

BEBIR

V+
GND
OouT 1

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

Leuze

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBEAREEHRA
chi + 2025-03-27

3/6



BRI « B RS : 50109658 « IS 208MM/4NO-4NO

Eipap

TP RE

Sn 4 [mm]

S, [mm] 4
D1 [mm] 6

5,0

D2 [mm] 14
D3 [mm] 6

4,5

4,0

3,5
3,0

2,5

11RO

2,0

1,5

1,0

0,5

[mm] 5 a3 2 1 0 1

—ON@

mmmurr ©

WS, KA =4.0mm

d, D2 _, d, D3

T _J--i >

>3S,

BRENE TR

LED ER
1 #E KR

The Sensor People

| )

2 33 5

a ®BEXFX
b RAERR

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

Ui EA

FF % B4 /T MRS

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBEAREEHRA
chi + 2025-03-27

Leuze

4/6



BRI « B RS : 50109658 « IS 208MM/4NO-4NO

ks

T PUN

=mEM : ISXYYY ZZ/AAA.BB-CCC-DDD-DDD

ISX

YYY

Y4

BB

CCC

The Sensor People

ThEERE / Rit
IS : BRI X, PR
ISS : BRARKITK , ;|ikit

3]

203 : @ 3 mm %5

204 : @ 4 mm %5

205 : # M5 x 0.5 SMELH = RBRF

206 : @ 6.5 mm %5

208 : # M8 x 1 JMELH ™= mR5

212 : # M12 x 1 JNMELH 7= R R 5

218 : i M18 x 1 JNMELH ™= R R 5

230 : # M30 x 1.5 JNBLH = R R F

240: FRARIT RS

244: FRAZIT RS

255 : 5 x 5 mm? BEHARS

288 : 8 x 8 mm? B EFHR I

S5 1B

MM : BT (BRXE : BH )/ AHIRE

FM : £22BAR (BRI : FHM AISI 316L ) / NHIERL
MP : €BAFE (BRXE : B )/ AFIHBRY

2 FThRAR

CEL ALY

4NO : PNP & & , EFF il (NO)

4ANC : PNP &6 , B (NC)

2NO : NPN R4 E , EFF il (NO)

2NC : NPN &% & , EiMfis (NC)

1NO : 4kE888 , EFF = (NO) /AC/DC

INC : 4¢E388 , EMALS (NC) / AC/DC

44 : 2 PNP @& F<HHim , K3 (NO +NC)
22 : 2 NPN &#@EFF XM , R3¥ (NO+NC)
L : 10-Link 0

X : 5|#IKA

BHRES

BUH : TR HRES

5F : RMAE

5 : S\ HH V2A (1.4305, AISI 303)

MESTE / REFR

1E0 : WRIBMESTEERE 1.0mm / FELRE
1E5 : IR ESTERE 1.5mm / FELE
2E0 : MR ESTEZERE 2.0mm / FERE
3E0 : WIRMESTEERE 3.0mm / SFELE
4E0 : RFRMEBSBERRE 4.0mm / FFERE
5E0 : MPRNESEE R 5.0mm / FERE
6E0 : MR ESTE R 6.0mm / FERE
8EO : MPRMESTE R 8.0mm / FERE
10E : WRIEMESTEEE 10.0mm / FFEERE
12E : WRIBMESEEERE 12.0mm / FFEERE
15E : WRIRMESEEEE 15.0mm / FFRERE
20E : RPRMESBEZEE 20.0mm / FFEZE
22F : RPRMESBERE 22.0mm / FFERE
2N5 : PR ESEEER 2.5mm / EFFERE
4ANO : PR ESETEER 4.0mm / FEFRRE
8NO : PR ESTEERE 8.0mm / FEFFRE
10N : RPN ESTEZXE 10.0mm / FEFFRE
12N : RN ESTEXE 12.0mm / FEFFRE
14N : PR ESTEXE 14.0mm / FEFFRE
15N : RPN ESTEZXE 15.0mm / FEFFRE
20N : PR ESTEERE 20.0mm / IEFRRLE
22N : PR ESEE R 22.0mm / IEFRRE
25N : PR ESEEERE 25.0mm / IEFRRLE
40N : PR ESTEERE 40.0mm / IEFR L%

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

Leuze

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBEAREEHRA
chi + 2025-03-27

5/6



BRI « B RS : 50109658 « IS 208MM/4NO-4NO
I Leuze

}tl:ll:l:lz"ﬁ

DDD BSERE

BUE : 848, #AEKE 2000 mm

S12: M12 BSR4 4, B

200-S12 : B4 , KE 200 mm , # M12 BERERS , 4 4, BEF
200-S8.3 : B4 , £&F 200 mm , # M8 EiEERS , 34, EF
S8.3: M8 B, 34, BEF

005-S8.3 : B4 , KE 500 mm , & M8 BliE#EsS , 34, B
050 : B4 , #AEKE 5000mm , 378

Y FIE T AR R R EIIRBEE R 5 MAI ML www.leuze.com,

L

/\ weasnemne

O RERAFEREERS  TERATARRY
G RgERET AR FA=RBRAZET,

& F AR ET AR 6 A M.

A HXTULRA :

L WFULNA , RENEC(REERBSME)BERIAAF 2R B FEA.

BLfF
RE RS - Hitb

B trims =L Bt e
50111497 MC 008K 2 P42 8 mm

RERERIT: TEX
BEMNEEHF BARE
REMBEEH: ATRE
RFERZIE: NI
Rk R

Y PR A AEA S RE LT SN MEEREAE S TEN TRETF.

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-03-27 6/6



